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Q. पैटर्न को दखेिये तथा ____ पर संख्या खिखिए : 

Q. Observe the pattern and write the numbers at ____ :

1+3 = 4

1+3+5 = 9

1+3+5+7 = 16

1+3+5+7+9 = 25 

1+3+5+7+9+11+13+15+17 = ___________

(1) 36

(2) 64

(3) 81

(4) 100
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Q. 0.013 और 0.07 का गणुर्फि इसके बराबर ह:ै

Q. The product of 0.013 and 0.07 is equal to:

(a) 0.00091

(b) 0.0091

(c) 0.000091

(d) 0.091
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(1) 5×106

(2) 0.5×106

(3) 5×107

(4) 2×107
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Q. र्ीचे खदए गए पैटर्न का अविोकर् कीखिये और अगिी पंखि  चखुर्ए :  

Q. Observe the following pattern and select the next row: 

( 9 - 1) ÷8 = 1

(98 - 2) ÷ 8 = 12

(987 - 3) ÷ 8 = 123

___________ = ______

(1) (98765-4)÷8=1234

(2) (9876-4)÷8=1234

(3) (9876-5)÷8=12345

(4) (9876-4)÷8=12345
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Q. 24.4×5 – 90÷5 - 25.5× 4 का मार् ह ै?

Q. The value of 24.4×5 – 90÷5 - 25.5× 4 is ? 

(1) 20

(2) 12.5

(3) 2

(4) 18.8
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Q. 27777 प्राप्त करर्े के खिए 7077,7707 और 7007 के योग में क्या िोडा िार्ा चाखहए?

Q. What should be added to the sum of 7077,7707 and 7007 to obtain 

27777?

(1) 7777

(2) 5986

(3) 5968

(4) 5698
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Q. यखद 3.101-2.11-k = 2.65-0.256 ह,ै तब (1-k) का क्या मार् ह ै?

Q. If 3.101-2.11-k = 2.65-0.256, then what is the value of (1-k)?

(1) 2.304

(2) 2.403

(3) 0.597

(4) 0.403
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